Theme 1 – Tax and Subsidies


Indirect Taxes and Subsidies – Top Tips
· Be aware that subsidy and indirect taxes cause the supply curve to shift.

· Indirect taxation shifts the supply curve to the left because it effectively increases the costs of production – because it is the legal responsibility of the producer to pass the tax onto the government.

· The tax diagram illustrates an indirect tax, of which there are two types of indirect tax:

· Specific tax (tax placed on each good is the same, regardless of the price of the good)

· Ad valorem tax (tax placed on each good is percentage based, therefore more expensive good has a higher amount of tax placed upon it – like 20% VAT).

· It is important to distinguish who bears the burden of the tax e.g. the consumer, producer. The burden that they have to pay is known as the ‘incidence of tax’ – use this phrase.

· Remember the size of the tax or the subsidy is the vertical distance between the supply curves.

· The incidence of tax for the consumer is the part of this vertical distance which shows the increase in price the consumer pays. Which is simply the increase in the market price (P1-P2)

· The incidence of tax for the producer… is the vertical distance which is not represented by a change in the market price.

· Be aware that when the PED is inelastic (steeper demand curve) the consumer will have the largest burden of tax.  

· An excellent evaluation point during an exam, when mentioning the effectiveness of subsidies and taxes, is to state that when the supply or demand curve is inelastic – the subsidy/tax is less effective.
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Indirect Tax:


· Tax that involves an intermediary (retailer) to collect the tax, before the government receives.
· For example, if we purchased a chocolate bar from Tesco, we would pay VAT. However, the tax revenue from the VAT will not go straight to the government from our pockets. It is collected by the retailer (Tesco) first and then given to the government.
· This indirect tax effectively adds to the costs of production, as producer has to ensure it gets paid. Supply shifts to the left (reduction)
· There are two types of indirect tax: specific (adds the exact same amount of tax to every unit of output, regardless of price) and ad valorem (which calculates the tax for each unit based on a percentage of the price – such as VAT).
Two types of indirect taxation: specific tax and ad valorem tax.
· Specific tax: When the amount of tax per unit, regardless of the original price, is exactly the same.
· For example, if the government decided to place a tax of £2 on all food items – this is specific amount of tax placed on each unit, regardless of their original price.
· Ad valorem: Whereas with a tax like VAT, the tax is a percentage and so the tax placed upon goods becomes larger, the more expensive the good. For example if VAT is 20%, the tax on a £50 item would be £10 – whereas the tax on a £200 good would be £40.
Tax and Elasticity
 
Who pays the most tax (the consumer or the producer) depends upon the elasticity/inelasticity of the supply and demand curves.


If the demand curve is relatively inelastic (and the supply curve relatively elastic) – easier for producers to avoid tax and pass onto consumers.


If the supply curve is relatively inelastic (and demand curve relatively elastic) – the producer takes more of the burden, otherwise the quantity demanded for their product will fall greatly.

